82.1
1)

2)

3)

4)

5)

Estimate 412 x 28

3 4
Work out = X -
75

Work out £289.80 + 6

Expand 3x(2x — 5)

Express 280 as a product of prime factors



82.2
1)

2)

3)

4)

5)

Find the highest common factor of 24 and 42

Work out 48 + -4

Complete theratio6:30=1:7

Solve the equation 5x + 3 = 3x 4+ 12

Express 34% as a fraction in its lowest form




82.3
1)

2)

3)

4)

5)

Estimate 4734 - 4153

2 6
Work out = X -
377

Work out £634 + 5

Expand 5x(3 — 2x)

Express 64 as a product of prime factors




82.4
1)

2)

3)

4)

5)

Find the lowest common multiple of 24 and 72

Work out -6 x -4

Complete theratio 16: 128 =1:7

Solve the equation 6x — 5 = 3x + 16

Express 56% as a fraction in its lowest form




82.5
1)  Estimate 6087 + 18.7

5 12
2)  Workout=X—
8 13

3) Workout £289 + 4

4)  Expand x(3x + 14)

5)  Express 90 as a product of prime factors



82.6
1)

2)

3)

4)

5)

Find the Highest common factor of 120 and 135

Work out -6 + -4

Complete the ratio 22 : 330=1:7

Solve the equation9x+7 =3x—5

Express 12.5% as a fraction in its lowest form
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